£efe 1k 202] MAL 2K

(3) A

A HEE Re L
2R swmA SmE s-C
o= st A | L E2RsAB L fa 2R L

SteAcenB ol =2:3:94 kb

bac—a’ i ymok 21 e
oAz —m = — = A
2bc 2 .3-4 24 &
g=2xl b=3. 34l lLZ [sinA= l—(g)" = LE—F’!:‘S
AABC = \Exéxcx9=ﬂf°\=-‘£w?1x41xj§ = Jis
2 & = 7 T R PR R, S L
A = L Iz Bc=0 =2 = J=3 =
AT 5 &)
Hiz ABC Do B
DHtPCrAiEEEtBZ‘c DH:EH =2:]
Ctt.z @B ABch o 348 13 ABcdo L1,

ABCDAfE SR 12
ABCD n@ﬁ =

L
2 <

=B (B =
es ATER g 2R

4
7k [ 3lz
ARCPIz ABCH o 4iE qu

W C

Qi baf =220 =

3

%3 %2 x si- {8’ = -q—‘]——i



o) EEra, BIEyr I3

£ x4
N 4 v A3 AR s 7
N-x (o} 2 —2 -1 / [}
(x-3) 0 % v 7 Ty /o 24
J S & 2] é /0 fo £
T R R PR N
(3-5)1 4 & 16 o M4 4o
0O S A S I B T
Sw = 2 Sy = &
ERIen e % [ 2
0 T e = v O P

(7) 0(+(3=vm, 0([5=3M .85

olf=3lasp) & (o-2)(e-3)=¢
=3 -3 = QL9 32D (7.1 )] . +7 ), G +3) (- 1)
(ol.(l) 4 (oD 4 (1, 4) (224 JCal.oD, (=4 —2)

/mh‘*ﬁlff‘zi‘cfa‘). ebbBB1tan 4,12

&) Q b ~Rb@
Zrar

>0
37

n

]

26"~ -~ 9-90 = loo
PET R SUT RS ITS ET A



